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Returning	
  to	
  a	
  plot	
  from	
  last	
  week	
  

Looking	
  at	
  CDC	
  from	
  downstream	
  towards	
  upstream	
  

This	
  is	
  the	
  number	
  of	
  events	
  
in	
  which	
  there	
  are	
  bursts	
  of	
  
noise.	
  5.5k	
  events	
  total.	
  

	
  
“Green”	
  =	
  ~	
  25%	
  of	
  events	
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Missing	
  bits	
  

Electronic	
  noise	
  on	
  a	
  typical	
  channel	
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Missing	
  bits	
  
Electronic	
  noise	
  with	
  a	
  someJmes	
  stuck	
  bit	
  (?):	
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Missing	
  bits	
  
Electronic	
  noise	
  with	
  a	
  someJmes	
  stuck	
  bit	
  (?):	
  

Appears	
  across	
  mulJple	
  ADCs	
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Missing	
  bits	
  
One	
  channel	
  where	
  the	
  bit	
  is	
  always	
  stuck:	
  

This	
  Jme	
  it	
  is	
  the	
  only	
  bad	
  channel	
  on	
  the	
  fADC	
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Pedestal	
  Mean	
  and	
  RMS	
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